Math 180
Worksheet 13
Section 4.8, 5.1-5.2

1.) Find all the antiderivatives of the following functions. Check your work by taking

derivatives.
a. Flx) =5zt b. g(x) = sin(2x) c. P(t) = —6t77
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b. [(sin2u+ cos3u)du - ‘
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2.) Determine the following indefinite integral. Check your work by differentiation.
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3.) Approximate the area of the region bounded by the graph of f(t) = cos(t/2) and the
t-axis on [0, 7] with 1 = 4 subintervals. Use the midpoint of each subinterval to

determine the height of the rectangle (see figure). (Use your calculators for the y-

values)
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4.) Express the sums in Sigma Notation.
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5.) Evaluate the following first by hand, and then by using the appropriate formulas.
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6.) Use only the fact that f; 3x(x — 2)dx =16 and the definite integral properties to
calculate the following:

a. [, 6x(x—2)dx = b. [ 3x(2 — x)dx =
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